EARAROBEEIERT — 2 N— IBISH —F

20195108148 (B) 14E1AE4H

B C1—138 C1 ¥5%3%L (xwlw | lmEmml - |5 ) w8
[AE4£] 1% :280,000” ~ 2%:84,000”  37%&:28,000”  43%&:17,000” / 5&:0H
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R £IAB : -1-1- — A (EE
Ty — % 5 f51_0 1.(2_4).2 1-1-1-1 | 38.2 2 :533; /J\%T:ng )
LYY —N—FK B:T7zlH-—F [EEiE e
o =P . & Al 224, e X - HEXE (£E)
Lywyd—=4FL40d o 4| el 1(/%;)2 3-3-3-2 | 37.8 1 f; Efﬁ%ﬁ—eﬁrﬁ i
L:A—LFL4Aa B:h—FKYRKLZ KT 7 — L
. . =S . 55— — =
H I LH—A o4 Sﬂgf'SLA 1.(244).9 5-5-5-3 | 38.3 3 <4+712) Eii (#E8)
L:N=HNK B:I7I0vF FEWE
. . s =mIEA . 44— — ekt (1EE)
EEEL UN > 4 I 1.(245).6 4-4-4-5 | 39.2 5 zzg; AHes
R:TL>FFE1T« BART1—4 ZAHAE—FRT—TI
SRS 4 6 | WTHE 1:26.3 2-2-2-4 | 40.0| — 4 459 | FUWEF (1£8)
5/5(5 T1T¥>ETTA 5.0 (@) 6 | (B JPNEEH
RixLTHXANAN BI—Y2VIVET FERS
® I—F—@EBIERL
|S=7r= 3,5,1,4,2
Aol=5"= 3,5,1,4,2
G=7"= 3,5,1,4,2
431—F— 3,1,2,5,4
[ RN
B 3 280 794K 1-3 100M B & 1-3 110M &R 1-2-3 180M
# B 3 1204 2=3) 130M B H Sl 310 EE ==z 730
1 1004 1-2 120H

ABICOVWTRDTEEERROODE. TR LIV,




